BR$pIL P F
Han Chiang High School, Penang.
2023 FAF#E R,
Entrance Test, Year 2023
Science

HH#9: 202310 A 1 8
Date: 1 Oct 2023

BFiE: 10:20am — 11:00am
Time: 10:20am — 11:00am

# 4 /i 4n INSTRUCTIONS TO CANDIDATES

1. AR B LA LAFA 30 A, PrAAL B MAEEAEOEFTHR L, 7R 2B B LA LM 0 FEPT
BEy TR ERE
This paper consists 30 Multiple Choice Questions. Select the best answer and blacken
the square corresponding to the same letter of the alphabet as the answer you have
selected. Mark on the answer sheet ‘O’ provided. Answer ALL questions with a 2B
pencil.

2. BT, MeFEFEIF@AEF AN L, FAE RSl FFREAR
Before answering the question, fill in your name, index number and primary school
name on the cover page.

3. FERFREEFTEF S,

Candidates are not allowed to remove the question paper from the exam hall.

4. AFHIB LR 6 @,
This paper consists of 6 printed pages.

AZEXEHR IFHHAR
Do Not Turn Over This Page Until You Are Told To Do So

AL ()

Name of Candidates: (Chi)

AL (FEX)

Name of Candidates: (Eng)

FEmT: NEFREAR:

Exam ID: Primary School Name:




1. Kb BHITR R T PIIRANE IR T B kM 5242

Water bottles are often made of plastic. How can a plastic be described?

A. A 2EJE M It is malleable B. # It is heavy
C. ¥ &5 It has high melting point D. & K It is waterproof
2. KA F KA ey E42 42 o
The change of state from water vapour into water droplets is known as
A. % X Evaporation B. # 5 Boiling
C. #t# Condensation D. 4 Sublimation

3. AT 4 Al ik, “RAPEIREAATERT?
Which one of the following circuits has the brightest bulbs?
A

L —® —&—®
240V ® 240V
T L ® L 9 —®

IXITIEITN
240V (39 20v (X)) X
L] | -

4. TRRAFN 4B T RAMFHH?
Which of the following animals is classified as invertebrate?

A. &% dolphin B. ¥3%& bat C. ¥F prawn D. # #& turtle
5. £ RidAEF, HEAHES B, B E.

During respiration, glucose reacts with to produce energy.

A. #A nitrogen B. # A chlorine

C. — &M carbon monoxide D. # A oxygen

6. T PR —AF ik £ 4 7T VA fE B A4 FAR?
Which of the following microorganisms decomposes the dead organisms?
A. #9H bacteria B. J&# virus C. % £ algae D. & 4 34 protozoa

7. RN KA IAT ik £ A 1 mx B ?
Which of the following microorganisms causes COVID-19 disease?
A. aH bacteria B. /& virus C. £# fungus D. B # 1§ yeast

8. AT —At ik £ 4 2 Rl ek 3E 7 & ?
Which of the microorganisms below is used for baking?
A. BH&H yeast B. T & Amoeba  C. ‘8H bacteria D. J&# virus



9. UTH—NEERESMENEF?
Which of the temperatures below is optimum for microorganisms to survive?
A. 20°C B. 30°C C. 40°C D. 50°C

10. EAMRA, RAP QUEHMERMAAA . THNHALP?
P system transports nutrients and oxygen in the human body. Which of the following

is P?
A ‘B # % ¢ Skeletal system B. "F*& £ 44 Respiratory system
. «%1 X % % Digestive system D. &% A3 £ %4 Blood circulatory system

11.B 1 27—4e7]. M—A 77 &t A Bl k7] 2457
Diagram 1 shows a knife, Which of the following methods can effectively prevent the
knife in the diagram from rusting?

B 1 Diagram 1
A. #7149 7% 7% Keep the knife clean

B. £ 7] Lix E— &% Apply a coat of oil to the knife
C. A kR % % &% 7 Wrap the knife tightly with a card
D. e 71 2 2 [k 69 3 7 Keep the knife in a dark place

12. 97 F 89 i AR AP 2 ? Where are egg cells stored and released from?
A. T8 The uterus B. £ The testes
C. J7 £ The ovaries D. # 97 € The oviduct

13. A2 AM-FH#H 4 %) X? On average, how many days does the menstrual cycle last?
A. 7 B. 14 C. 21 D. 28

14. 3R 69 2 R & A 4 ? What is the function of the red blood cell?
A. 1z 8418 ) & F Carry messages all over the body
B. #=4]9F X 4 X J». To control the size of the openings
C. & A A 2 F 4K A To carry oxygen around the body
D. #&= 4] mfe &y P& &5 To control all the activities of cell
15. F29Re 4+ 4 A Ak B e R AP
Which of the following living organism can only be seen with a microscope?
A. #h 44 Microorganisms B. 4 #%# Decomposers
C. % Mold D. +3% Soil

16. AR AN 09 £ K A7
Which of the following is NOT the condition needed for the growth of microorganisms?
A. Water K4 B. Air & &, C. Nutrient % %" D. I8 % Sunlight

17. =A== AR 3 N8k, CEER5)?
What is the weight on Earth of a 3-kg object?
A.3N B.30N C. 300N D.0.3 N



18.F 3| EE A 3 40A B R 494542 ? Which characteristic describes an insect correctly?
R 49 F KT 9 PS04 An insect has a body divided into two segments.

£ k89 F KT 5 Ak % 34 An insect has a body divided into many segments.

£ R A =*F & An insect has three pairs of legs.

. % kA A AR An insect has two pairs of eyes.

oowp

19. H—AFh e —K = TSI, mELIPagIh BT A 48R ?

Which animal can lay many eggs at once, and the eggs have mucus on their outer
layers?

20. AT ISR ) 693502 ?
Which of the following is not the effect of force?
A. K Z K change shape
B. ##.E# 344k stop an object
C. ¥ mhikik £ increase the speed of an object
D. %k #/E& maintain constant speed

21. B2 2 7A—MIE, CHRMAARGIER?

Diagram 2 shows a tool. What transformations energy does the tool in the diagram
below involve?

A. kAR — BAE > Ak

B. KBt — ® A — KAk solar energy — electrical energy — light energy
C. KMft — L5 — KAk solar energy — chemical energy — light energy
D. L5 fit —

A # — # Ak chemical energy — light energy — heat energy



22. X ¥ i fe 40°C ey IRES R iR S . Ul X 69k &
Substance X is a liquid at 40°C. Predict the freezing point of X.
A. 160°C B. 60 °C C. 240°C D. 30 °C

23. K&y#h &2 % ? What is the boiling point of water?
A. 25°C B. 50°C C.75°C D. 100°C

24 AT AR—ANR B A9 A4 TN FIK? At which temperature a microorganism is inactive?
A. 370C B. 0°C C. 1000°C D. 890C
25. B 3 ETHFENHEN. FARTFTHAHRNAEIAE?

Diagram 3 shows the situation in the science lab. Which manipulated skills did the
student obey in the picture?

/

A 3 Diagram 3

A. EFRHFNENALF E correctly line up to enter the science lab

B. E#x 5 A#H5 A £ correct application of scientific apparatus

C. E# R %4 HPE A5 B B correctly and safely store scientific apparatus

D. A#FF ZHE X AT A LYTR playing in the science lab and not listening to lesson

26. 2 L4 ILEYRAESN AR A » Animals that suckle their young one are called
A. JRAT £ Reptiles B. & % Birds
C. B8 £ Amphibians D. *#3L % Mammals

27. L TFHAE K% B 4&? Which diagram represents a solid?

A B C D
Q@ & ooooO 0 ©

R QOO OO%
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28. — AL EF 10 #3) 100 ZR. CHRERSV?
A toy car moves 100 cm in 10 seconds. What is its speed?

A.1km/s B. 100 km/s C. 100cm/s D. 10 cm/s

20.8 4 LT ARAAMABERREM XEFGEL, ATHARLATATA?
Diagram 4 shows the situation when the new coronavirus pneumonia occurs. What
does the following statement indicate?

A 4 Diagram 4

A. FHF W HRAIEF 4. viruses are very small

B. #% & Hom 0 X & b 9% & 51 A28 COVID-19 is caused by a virus

C. 0 BHMIEZ A ¥ & L #2)# masks have the function of blocking dust in the air
D. 0 F 4B 12 NAARE ST At 14

masks can reduce the possibility of viruses entering the human body

30. ATR 2T H A F R ? Which of the following energy resources is non-renewable?
A. XA A Natural gas

B. X B#E solar energy
C. A At Wind

D. K 71 X ¥ At hydroelectric

~~~ti R End~~~



